EBRE 1750

REAMM S 3 0KN,/nf

3000 3000 150
TVh-Ewh (7971)
M1§ L=450 T7h-#wh (79260 M16 L=450
- = _ 501,50 B4 TEfy ) _ / B8 TEfy |
= S N | FG 1 \ = 500300/ 500
i = o 3
= §-D16 =
- 10 8100 |1} -
B 450 B ¥ -
= M 7a=#wk (7978 M16 L=450 " = 9-D10 - =
fr, M':@"ﬂ \_._—._.__ =
150 .':..;,", - -
L= 1 100 100
\&»\ -
= 75 (L;) = 7/h=%wb (7978) M16 L=450
= Fob-twb DR MIG L=4S =~ = /M'Ej‘”
fig-TBfy | -3 1o, 300405
= D10 @300 /
1 o . D10 = _
= D10 n =
‘ e ] =
T7h=Ewb (7928 M16 L=450 A = =i
= 7= < 1013 "
~ ~ 100 450 100
FGI1%
_| = | Emse@N 1,30 |
F 1 F 1
6000 EMNo. Z%ENo.
BE :jc%é
[RRR—ZNY Z HKL 2045

ERAN - ERFEN

AR | BN | #N  KE

HS5DHA10349

fEReFA B B 74 FRM NS




